|

il ] 2
Ay —VyOAt‘Fanf

Yol v
l
2

vy =vy0 +ayt

21 (12
v, =v, +2a Ay

ax’ +bx+c=0

il —bi\/b2 —4ac

2a
m—10"

k—10°
\m =3.28 fi
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Gy =0

{

Ax =

( M:@Jr%axtz

e i H +a.t

v :v2 +2a Ax

A= 4+ 2
A,
smébﬁ
//'"
cosf =— I
IAI ¢
A,
tan @ = —
A



TEST 1 Review

Show all work in the spaces provided.

1) Let
A

B

—

C

=3.0mat 8, =160°
=2.0mat@, =0°
=5.0matg,. =210°

Name

a) Draw the vectors on a coordinate system using the graph paper below. (5 points)

-
-
*

e ——

gl
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b) What are the x and y components of Vectors 4,7 and (' ? (Spo nts)

Ay =IRICoo Cite?) By =AM
Ax:}'@{{“”’ B,= O
:\x‘ )Z|$p—(“'°) =' | Cow (2109
Ag'(”s‘“("d L= (§n) Lus (210)
pag=1.03w L= U.3m
= 1E) Sam (316)
Ca = (Sh) Saa Ll"’)
Ca 3*1.5"\
CJﬁltStZ:’f\%cm_;’AE nd Cin terms of its magnitude and direction? (4 points)
Ry = Ax Bt Cy R "43‘* ‘Sa*%
Ry=-2.3am+2m-4.33m Rb 1.63m + O ~ .M
Q\X--s 1Sm ‘\3-——] 97 m
‘\ (-5.15m, - 1. Y7 m)
(4
f\:(—s lsj\v“ |-L'7i\)m
+ 3
IRl= IK% M

1y 4(“5. sm)*+ CLem)r B = Taw® (h)

o= M -L91m )
— S.bLM 5 'Sh
IE[ ) © =15.93° lehno )Y o
o, 1945.49%°
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Gx=0 +
Qz’-’—c'.%»lls

Vi = 1| Cos (40?)

=43 Vx=(39n]s) G (40
ar Vi = (3.1 mlS
2) A cannonball a:mad at 40" is fired at:\;:’l.llo.:}u:ﬁr a;y_on level ground as shown above, The va g ‘v" s‘m\ ( Qo°)
initial speed of the cannonball is |v,|=89m/s. 0
a) How long does it take the cannonball to hit the wall? (3 points) y < (90""' S) S tn (ij
AX= Wt '
gl %;: - ‘&ojrm ~Y.49 Vg, = 5721 ]S

b) At what height does it hit the wall? (4 points

443:\)’.75*"50\ *)a

Ag = (7.21nH(4.49) + ¥ (9. 3mjs) (4.4%)*
AY=23ASL72M ~74.3¢m= [56.3CM

c) What is the speed and direction when it hits the wall? Is it on the way up or down? (4 points)

v}:v, +ay X 13| S| ET.13 MY+ (M-0%Als)
V, = S7-2Imls+ Ciams) (y)  131=6q.cam|s ( Specs)

= ‘ - -t (oF
va—ll/.omls (A/P ). O - L. (vx

o=t (UThw = 168° (M>
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3) Chameleons catch insects with their tongues, which they can rapidly extend to great lengths. In a
typical strike, the chameleon’s tongue accelerates at a remarkable 250m/s* for20ms , then
travels at a constant speed for another 30ms . During this total time of 50ms, )4, of a second,

how far does the tongue reach? (12 pts) O
2

@ L= TR

omS = 30x10°s
AXz WK

AX,= (Smis)(2ox16s)

AX =% (as0mls) @ 6XI6'S AX,= ISh

AX=-95M
v)\:)(j-l'alt
Yy = (256 n)s?) (Q0X163
)§<= Shis

AX,, =-05M+.16h = -AM o1 AOCM

5
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f/'

[

=

AX= lﬂ#"(Tirpr

ay = -9.3m|s*
Ay

4) In 1780, in what is now referred to as “Brady's
Leap,” Captain Sam Brady of the U.S. Continental
Army escaped certain death from his enemies by
running over the edge of the cliff above Ohio’s
Cuyahoga River, which is confined at that spot to a
gorge. He landed safely on the far side of the river.
It is reported that he leapt 22 fi across while falling
20fi.

a) What was Captain Brady’s minimum speed he
would need to make the leap? (9 points)

AX =), £
W= %

=6.71m

Ay= /{£+%a

4y = 76

Jt “D

2 (+6. Imf‘

TP .13

b) Is it reasonable that a person could make this leap? Use the fact that the world record for the
100m dash is approximately 10s to estimate the maximum speed such a runner would have.

Y zl_%f. = lbm(g
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